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2. () VEH-FAATIEAC Ao H

Note :
(ii)

There are THREE sections in the paper A, B and C.
JFT - T T YT G&AT 1 F G 10 977 & IR AT | IIF 97T @ 3HF H 8
ua @1 10 97T TGI8 TPR F T F 8 |

Answer all the 10 parts of the question No. 1 in Section A. Each part carries
one mark and all 10 parts have objective type questions.

(iii) QT - B F 8 Y 7 G 4T 6 ¥ & IR AT | F&IF F¥H 3 3% F1 8 0

F9HT 5 T / 50 &gl 4 3w Jforg |

Answer any 6 questions out of the 8 questions in Section B. Each question
carries 3 marks and to be answered within 5 lines / 50 words.

(iv) QT - @ F6 5N A @ [ 4 T IR A | T T 8 3F F1 8 T

v)

3997 15 &% / 150 W&t 5 3¢ difora |

Answer any 4 questions out of the 6 questions in Section C. Each question
carries 8 marks and to be answered within 15 lines / 150 words.

YeI% G917 G Fv 1 H1 FHIR U G 8T T |

Solve all the questions of a section consecutively together.

i) @ STIs F sia 87 @ [Rfa d s sra &8 8 |

Only English version is valid in case of difference in both the languages.

AW - T
Section - A
1L () @ adew & 6 dimst & fufor & fod fem g 7
(a) TR HAG (b) TUHA T
() M HaEw (d) @M A
In which survey boundary of land area is determined or measured ?
(a) City survey (b) Topographical survey
(¢) Cadastral survey (d) Mine survey

(10f 4) P.T.O.
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(i) 79 B9 B2 TheA ol a9 T g4

() Bl (b) =

(c) ®EABIR (d) It gt

When we takes small scale than map will be

(a) Small (b) Big

(¢) Very Small (d) All of above
(iii) gFaR Brar fr= angat it ey org @ s dan 2 -

(a) dfar 3 3Ema (b) T st afan

() Fwa ik sema (d) freper aih fiies

Invar Tape is made of mixed metal

(a) Cupper and Iron (b) Zinc and Copper

(¢) Nickel and Iron (d) Nickel and Zine
(iv) Fofiafin site it o @t 2 |

(@) 100%R (b) 666

() 50%kE (d) 1509

Length of engineering chain is )

(a) 100 ft (b) 66 fi

() S0ft (d 150t

(v) e 3 gae faft & amet 8§ =9 2

(@) IB'S-ZF-S=ZXIR-ZF (b) ZIB'S+ZIF-S=ZF+3IR
(c) ZIB-S-ZF-S=ZF-3ZR (d ZB'S-ZF-S=ZXIF+3:R

The check applied in Rise and Fall method

(@ ZIB'S-XZFS=XIR-ZF (b) ZB-S+ZF-S=XF+3IR
(¢) ZIB'S-ZXIFS=ZXF-ZXR (d ZB-S-ZF-S=ZF+3ZIR

(vi) aelerE § asha SeeE

(a) 0.06728 d2 X (b) 0.01121 d> X
(¢) 0.7849 d2 tiex (d) 0.07849 42 Hiex
In levelling curvature correction is —

(a) 0.06728 d? metre (b) 0.01121 d? metre
(c) 0.7849 d? metre (d) 0.07849 d? metre

(vii) wure taue fie o fft a2

(a) &8 1 AT (b) ¥ & @& Y

(c) & F1 Ievd IR IgH Fm(d) I aeft

Contour Interval depends on —

(a) Scale of map (b) Nature of ground

(¢) Purpose and extent of survey (d)  All of above
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(viii) Teret Gt shmmTa T famgatt & e Iwater gft waerdt 2

12

(a) &fes Fao
(c) HHr= JFaus

(3 of 4) 7133

(b) &fqs gegam
(d) AR geIaH

The vertical distance between any two consecutive contour is called

(a) Horizontal control
(¢) Contour Interval

(b) Horizontal equivalent
(d) Vertical equivalent

(ix) wee gaew § gueg gl &1 fRufa- s frm gam glaursas wu 4 e

a1 g -
(a) ioede fafy
(c) Teufy futo fafy

by fafero fafa
(d) afdn fafya

In plane table survey we can easily locate the position of point far away distance by

(a) Intersection method
(¢) Resection method

(b) Radiation method
(d) Traversing method

(x) Forelt T w @ 2aet wid 3 3 TR S SEATE FHSH EhT

(a) HZ
(c) &I

(b) HHATH
(&) Tror e

First temporary adjustment of plane table after fixing table on an area

(a) Centring
(¢) Orientation

+]-Y8 T ! FHAT |

Explain Geodetic Surveying.

HuTZ -1 T3 61 AR |
Explain Open-Cross staff.

2tz U & aHETey |
Explain Target Staff.

Zwdt Sae 91 d @ 7 FHAE |
Explain Dumpy Level.

grir Y@ %! GHETS |

Explain Contour Interval.

(b) Levelling
(d) Sighting (1x10)

e —

Section — B

3)

3)

3)

3)

3

P.T.O.
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10.

11.

12,

13.

14.

15.

It 2 %) anesy |
Explain Vertical Control. (3)
T 28  IRAT § 3 71 qEIE B 7
What do you means plane tube orientation ? (3)
i e | dafn i Fa E ¢
Why traversing is done in plane table survey ? 3)
e -t
Section — C
Faar & fargra % fran 3 aasmed |
Explain in details Principles of Surveying. (8)
=4 A9 § et ) wmeme |
Describes different Error’s in Chaining. (8)
ferfer= sapme <6t e Tanait @ T |
Describe different types of surveying lines. (8)

U el gRT FHfihar & ford T e wigaies fifrfiaa §

2.228, 1.606, 0.988, 2.090, 2.864, 1.262, 0.602, 1.982. 1.044. 2.684

Al die, B 3 e urgEiE % are et e w2 | afe qBeT wIgEis T
432.384 Wit ¥ A1 (et o) T e v e @t 9w farg it % T @ T
Hifre | (Ivertor Fraé faftr grn)

The following staff readings were observed successively with the level, the instrument
having been moved after third, sixth and eight readings : (8)
2.228, 1.606, 0.988, 2.090, 2.864, 1.262, 0.602, 1.982. 1.044, 2.684

Calculate the R.L. of points if the first reading was taken with a start held on a bench
mark of 432.384 metre. (Height of instrument method).

HHI= TR %1 I91fad 23 9Tt v ) gEsy |

Describe different elements which effect contour interval. (8)

yes gagw it faferon fafty 1 afim quema |
Describe with sketch radiation method of plane table survey. (8)




